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(A4) SARDAR PATELUNIVERSITY

' M. A. FINAL (EXTERNAL) EXAMINATION
WEDNESDAY, DATE:01 /04 /2015
TIME: 10:30 am. To 01:30 p.m.
Subject Code: ECO-507  Title: P- VI - QUANTITATIVE ECONOMICS

Note: (i) Figures to the right indicate maximum marks of the question.
(i)  Total Marks- 100
1. (A) Explain the meaning and types of equation with appropriate illustrations. 12
(B) A minimum requirement of nutrients, price of food and per unit nutrients from food are given 13
in the following table.
Food-1 Food-2 Minimum Requirement of nutrient

Price per unit T 60 T 100 -

Calcium per unit 10 4 20

Protein per unit 5 5 20

Calories per unit 2 ' 6 12

Find the combination of Food-1 and Food-2 which fulfill the requirement of nutrition at
minimum cost.

OR

1. (1) Give the meaning of differentiation and describe the rules for differentiation of the function 13
with appropriate illustrations.

(i) Demand and supply functions for commodity ‘X’ are 10-Px+Py and 6+Py +2Py where for 07
commodity ‘Y’ are 12+2Py-Py and 19+3Py-5Py respectively. (Px = Price of commodity X

and Py = Price of commodity Y) Then find out equilibrium price and quantity for

equilibrium.
(iii) Write a brief note on domain and range of the function with usage. 05
2. (A) With the help of appropriate examples, explain the types of set and processes on sets. 10
(B) By the use of determinant, solve the following problem. 06
X +Y+ Z2-30=0
X +Y+32Z-50=0
2X+ Y+ Z2-40=0
(¢) What is matrix? Explain various types of matrix with appropriate examples. 09
OR
2. (i) Define the probability. Discuss in detail various elements and events of probability. 08

(i) The input-output matrix for two firms is as follows. Using this matrix find out the level of 12
production of both firms when the levels of final demand for the production of firm -A is 60
and for the production of firm-B is 20 units.

Y Firm 3 Final Demand Total Production
Fi A 15 20 45 80
rm B 5 20 15 40
(iii) Write a note on mathematical expectations. 05
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What is central tendency? Explain various measures of central tendency and narrate their

utility in economic analysis.

Write a brief note on probable error.

Using the following data of price for commodity ‘A’ and ‘B’, calculate Karl Pearson’s

coefficient of correlation.

Months Jan. | Feb. | March | Apr. | May | June | July | Aug. | Sept. | Oct.

Commodity-A | 35 | 36 40 38 | 37 | 39 | 41 40 36 | 38

Commodity-B | 65 | 72 78 77 | 76 | 77 | 80 79 76 | 75
OR

Explain the concept of association of attributes. Describe the various methods to study the

association of attributes with illustration.

Find out Mean. Median, Mode and Standard Deviation for following data.
Intervals 5-15 15-25 25-35 35-45 45.55 55-65
Frequency 12 19 26 23 14 6

Give the meaning of correlation. Explain various types of correlation with the help of

scattered diagram.

Explain the concepts of regression coefficient and regression line. Discuss the causes

responsible for error regression.

Write a brief note on usage and limitations of Index number.

Using the following data derive the regression equations by taking assumed mean for ages of

husbands as 35 and for ages of wives as 30.

Age of Husband 25 |28 |30

32 |35

36 |38 |39

42 155

Age of Wive 20 |26 129

30 125

18 126 |35

35 |46

OR

Give the meaning of Index number. Explain with illustrations the time reversal test and factor

reversal test.

Narrate the characteristics of coefficient of regression. How does coefficient of regression

differ from coefficient of correlation? - Discuss

Construct the index numbers using methods of Laspeyre, Paasche, Fisher, Marshall-

Edgeworth and Dorbish-Bowley.
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Wage Earners 2014 2015

Number of Wage Total Number of Wage Total

Earners Wages Earners Wages

Men aged 21 years 35 24990 30 42000
and over

Women aged 18 years 40 16000 120 80040
and over

Boys 15 4500 10 5600

Girls 10 2500 40 17160
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